COUNCIL OF HIGHER SECONDARY EDUCATION, ODISHA PRAJNAPITHA, SAMANTAPUR, BHUBANESWAR-13.

AUCTION SALE NOTICE

Bhubaneswar, dated the $9 \, H$ May 2025

No.PPS 05/2022/ 2115 /CHSE/ Sealed quotations are hereby invited from the intending buyers/ firms/ waste material merchants to purchase unserviceable material made of wood, steel, aluminium, fibres, Iron etc. on "As IS WHERE IS BASIS" in one lot. The Offset price of the materials is fixed at Rs. 1,23,670/- (Rupees One Lakh Twenty Three Thousand Six Hundred Seventy) Only.

The last date and time of submission of quotation is on/ before 29.05.2025 at 02.00 PM which shall be opened on the same day at 03.00 PM in the presence of quotationers or their representatives, if any. The Quotation Pro forma, detailed Terms and conditions can be down loaded from the Council website i.e. www.chseodisha.nic.in: Council reserves the right to reject any or all quotations without assigning any reason thereof.

By order of the Chairman,

Secretary Secretary

Memo No. 2116 / CHSE Dt. 09.05.25/

- 01. Copy forwarded to the Director, NIC, Bhubaneswar for information and necessary action with a request to kindly upload this Auction Sale Notice with its enclosure (03 pages) in the Council website for public information.
- O2.Copy forwarded to All Officers/ All Sections/ALL Zone Offices CHSE/ Notice Board of the Council/ PPS Guard File for information and necessary action.

Secretary



COUNCIL OF HIGHER SECONDARY EDUCATION, ODISHA PRAJNAPITHA, SAMANTAPUR, BHUBANESWAR-13.

PERFORMA FOR DISPOSAL OF UNSERVICEABLE MATERIAL

(No correction or over writing is allowed)

01- Name of Farm/ Merchant	: -
02- Full Address & Contact No.	# # # A = 1
for correspondence	
03-Details of deposit of tender	
Fees of Rs. 1000/-	:- DD NoDt
(Name of the drawee Bank & Branch)	
04-Details deposit of the	
EMD of Rs. 10,000/-	:- DD NoDt,
(Name of the Drawee Bank & Branch)	
05-GST Registration No.	
(Enclose self attested copy of the GST Registration	Certificate)
06-IT PAN (Enclose self attested copy of the	PAN) :-
07- Aadhar card no.(Enclose self attested copy of the Aadhar card).	
08- Rate quoted to lift of stock Of unserviceable Material In one lot	In figures Rs. In Words (Rupees)
I undertake to lift the material within 7 (seven) days	on payment of full amount quoted by
me as per terms and conditions of the Council.	
	the was the said of the said of the said of the said
Date: -	Signature/ Seal of the Firm/ Merchant
Place: -	
god of earl	

TERMS & CONDITIONS FOR DISPOSAL OF UNSERVICEABLE MATERIALS

- Sealed quotations in the Prescribed Pro forma along with non-refundable tender fee
 of Rs. 1000/- (Rupees One Thousand) only and Earnest Money Deposit (EMD) of
 10,000/- (Rupees Ten Thousand only) in shape of Bank Draft drawn in favour of
 "FINANCE OFFICER, CHSE, ODISHA" in any Nationalised Bank shall be submitted
 superscribing "QUOTATION FOR UNSERVICEABLE MATERIALS" addressed to the
 Secretary, Council of Higher Secondary Education, Odisha, Bhubaneswar-751013.
- Last date of submission of quotation is 29.05.2025 by 02.00 PM and the same shall be opened in the Conference Hall (1st floor) of the Council on the same day at 03.00 PM in presence of tenders or their authorised representatives, if any.
- 3. All quotation applications will be required through Registered Post/Speed Post/ only which must be reached the same on or before by 29.05.2025 by 02.00 PM. Quotation without tender fee and EMD or received after due date & time shall be summarily rejected. Council shall not be responsible for any postal delay.
- 4. Quoationers are required to submit self-attested copy of GST Registration Certificate, Income Tax, Permanent Account Number (PAN), Aadhar Card in the prescribed pro forma failing which quotation paper shall not be considered.
- 5. The successful bidders will have to lift the materials within 7 (Seven)days from the date of issue of Sale order after depositing the full offered amount failing which the earnest money will stand forfeited and the material will be sold to next highest responsive bidder.
- 6. Any condition imposed by the bidder will not be entertained. The bidder will have to follow the terms & conditions as specified.
- 7. Failure of the successful bidder to lift the materials within the stipulated period from the premises of the Office shall make him/ her liable to pay 1% of the total bid value for each day or part thereof from the stipulated last date of lifting.
- 8. The authority reserves the right to reject the entire quotations without assigning any reason thereof.



1

List of un-serviceable materials and its offset price:

SI. No.	Name of the Articles	Quantity	Offset Price per unit	Total
1.	Gutting Chair	29 Nos.	Rs.50/-	Rs.1450/-
2.	Wooden Chair	10 Nos.	Rs.40/-	Rs.400/-
3.	Plastic Chair	34 Nos.	Rs.20/-	Rs.680/-
4.	Semi Wooden Table	91 Nos.	Rs.200/-	Rs.18,200/-
5.	Iron Almirah	56 Nos.	Rs.1000/-	Rs.56,000/-
6.	Iron Trunk	20 Nos.	Rs.40/-	Rs.800/-
7.	Computer Table	13 Nos.	Rs.300/-	Rs.3,900/-
8.	Type Machine	03 Nos.	Rs.150/-	Rs.450/-
9.	Duplicating Machine	01 Nos.	Rs.150/-	Rs.150/-
10.	Iron Rack	29 Nos.	Rs.300/-	Rs.8,700/-
11.	Weighing Machine	01 Nos.	Rs.1000/-	Rs.1,000/-
12.	Television Iron Plate	01 Nos.	Rs.500/-	Rs.500/-
13.	Iron Plate	01 Nos.	Rs.1000/-	Rs.1,000/-
14.	Iron Tube Light Stand	70 Nos.	Rs.10/-	Rs.700/-
15.	HP SB Iron Lamp	03 Nos.	Rs.100/-	Rs.300/-
16.	SV Lamp	03 Nos.	Rs.100/-	Rs.300/-
17.	Panel Board (Big)	01 Nos.	Rs.500/-	Rs.500/-
18.	AC (Window)	03 Nos.	Rs.1000/-	Rs.3,000/-
19.	AC (Spilt)	02 Nos.	Rs.1000/-	Rs.2,000/-
20.	Photo Copier Machine	01 Nos.	Rs.1000/-	Rs.1,000/-
21.	Generator	02 Nos.	Rs.1000/-	Rs.2,000/-
22.	Ceiling Fan	10 Nos.	Rs.50/-	Rs.500/-
23.	Computer	05 Nos.	Rs.100/-	Rs.500/-
24.	UPS	15 Nos.	Rs.50/-	Rs.750/-
25.	HP-P 1007 (Printer)	03 Nos.	Rs.200/-	Rs.600/-
26.	Wipro HQ 1070 DNX (Printer)	01 Nos.	Rs.200/-	Rs.200/-
27.	HP M-202 DW (Printer)	01 Nos.	Rs.200/-	Rs.200/-
28.	Aqua guard Cooler Cum Purifier Model-AGCCP	04 Nos.	Rs. 500/-	Rs. 2,000/-
29.	Ten HB Water Pump	03 Nos.	Rs. 1,000/-	Rs. 3,000/-
30.	Five HB Water Pump	01 Nos.	Rs. 1,000/-	Rs. 1,000/-
31.	Old panel board (Iron)	10 Nos.	Rs. 500/-	Rs. 5,000/-
32.	Ceiling Fan	13 Nos.	Rs. 50/-	Rs. 650/-
33.	Street Light (Big Size)	01 Nos.	Rs. 20/-	Rs. 20/-
34.	Wooden Switch Board	07 Nos.	Rs. 20/-	Rs. 140/-
35.	Ceiling Light Stand	08 Nos.	Rs. 10/-	Rs. 80/-
36.	Old model Tube Light Stand	600(Approx) Nos.	Rs. 10/-	Rs. 6,000/-

(Rupees One Lakh Twenty Three Thousand Six Hundred Seventy) only.



